1 Write the first four terms in the binomial
expansion of:
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2 In each of the following binomial
expressions, write down the required term.

a fifth term of (a — 2b)!°
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b third term of [a + —2J
a
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¢ fourth term of (x - 2)})
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3 Find the term independent of x in the
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expansion of (x - F] .
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4 Use the binomial theorem to expand
4
[2—%] . Hence find the value of (1.99)%

correct to 5 decimal places.
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5 Find the term in x° in the expansion of
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6 a Expand [x+£}.
X

b Find the coefficient of x*>y? in the
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expansion of (Zx + y)[er y].
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7 Write in factorial notation:

a the coefficient of x* in the expansion of
(1 + X)?1+]

b the coefficient of x*> in the expansion of
(1 + 2x)".

¢ Find n, given that these two coetficients
are equal.
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8 a Express (ﬁ - \/5)5 in the form of
a3 + b2 where a,b € Z.
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b Express [\/_——j in the form a+ b\10,
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¢ Express (1+\/§) —(1—\/§) in the form
a5, a € 7.

@ (f7-0)
° ' 2 ' oG L

B R) D R () () + Gl () @) )+ e (5) ()

(B4 45 () +1(F) + 0CE) v 20007) + (3)°

:qE - +60J3 -0+ 2003 - 43

s 8943 -1090>

(&) (f-z
' (R) (-£) + (R (7)) GR)(#) G E) (IF) * Cﬂ(ﬁ)oc'f)q

u

be 8B(-£)+ a(R) 18 (-5)"

y-%E .0 4 L
& 5 sIF 2%

SN
s § ;;—)

s
ul ( *ﬁ)

6 _ a4 fio
s

(1)

(1)

"



© (@)’ (-5

)’

1}

L+ 33+ 2() ¢ 35 ()34 (@ + 1(E)7+ 7B + (87

1+ 3T + 105+ 35 T + gFs + 5250F + §75 + 12€¢

[}

s 1856 + 832 ¢

(v -5%)?

= |- HF + 105 - B§[T + gFs - $35IF + €% - 12608

3 \€6- €325

(1656 +833JS ) - (1956 -832 %)

= \65% + 832J5 - I€SE + €32 %
= 1664 J5

9 Find the value of the following by choosing
an appropriate value for x in the expansion
of (1 +x)".
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